Grade 12 Chemistry

Acids-Bases Worksheet

Given [H3O+] or pH and [acid] find KA
1. A solution of 2.5 mol/L acid HA has a hydronium ion concentration of 0.050 mol/L.  Calculate KA.


(1.02 x 10-3)
2. A solution of 1.0 mol/L acid HX has a pH of 5.2.  Calculate KA.

(4.0 x 10-11)
Given [acid] and % ionization find KA.

3. A 1.5 mol/L solution of acid HY ionizes 15%.  Calculate KA.

(3.97 x 10-2)
4. A 0.50 mol/L solution of acid HZ ionizes 7.5%.  Calculate KA.

(3.04 x 10-3)
Given KA and [acid], calculate [H3O+], pH and % ionization.

5. Find [H3O+] of a 2.5 mol/L solution of HF (KA = 6.3 x 10-4)

(pH=1.4)
6. Find the [OH-] of the solution in question #5.

(2.5 x 10-13)
7. Find the pH of a 0.75 mol/L solution of HClO (KA = 4.0 x 10-8)

(pH = 3.76)
8. Find the % ionization of a 1.4 mol/L solution of ammonia if KB = 2.5 x 10-5)

(0.42%)
9. Find the pH and % ionization of HF from question #5 above.

(pH = 1.4      1.59%)
10. Find the pH of a 0.020 mol/L solution of sulfuric acid (strong acid).

(pH = 1.7)
